Irwin, Basic Engineering Circuit Analysis, 10/E

8.125 Calculate the Theévenin equivalent impedance Zp, in the
circuit shown in Fig. P8.125.
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Chapter 8: AC Steady-State Analysis Problem 8.125



Irwin, Basic Engineering Circuit Analysis, 10/E

kviL: V= YI, + 37,

vV = YHY(0707 £Y5°) +3( 107 /-Y°)

VT 354 £€12°V

7 = Vo= 35Y/p°
I 1l 0°

21y = 3584 L¥3°_

Problem 8.125 Chapter 8: AC Steady-State Analysis
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Chapter 9: Steady — State Power Analysis

Problem 9.57
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14.64 Determine the transfer function for the network shown in Fig. P14.64. If a step
function is applied to the network, what type of damping will the network exhibit?
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Chapter 14: Application of the Laplace Transform To Circuit Analysis

Problem 14.64
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Problem 14.64 Chapter 14: Application of the Laplace Transform To Circuit Analysis
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16.15 Find the Z parameters of the two-port network in

Fig. P16.15.
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SOLUTION:

Chapter 16: Two-Port Networks

Problem 16.15
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15.29 Determine the steady-state voltage v,(t) in the network
in Fig. P15.29a if the input current is given in Fig.

P15.29b.
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Figure P15.29
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Chapter 15: Fourier Analysis Techniques Problem 15.29
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Problem 15.29 Chapter 15: Fourier Analysis Techniques
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Chapter 15: Fourier Analysis Techniques Problem 15.29



